
Doěítání v oboru do 10

3+

2+
,10 -
9_
1+

7+

5+

1O-

7_
10-
8-
8-

10-
9-
1+

5+

3+

8-
9-
7_

= 
'10

=8
= 10

=5
= 

'10

=9
= ]0

=8
)
-?
l

=8
=6
=6

-7

=5
o

= 10

-7

=4
=2

_6- 3

+5= 7

-4- 5

_6- 4

+ 9 = 10

-2- 5

_5- 4

-§= 5

+2= 6

+ 8 = 10

_3- 6

-4- 3

+5= B

_9- 1

_,1 - 8

_3- 5

+ 6 ='10

+3= 6

_5- 5

+2_10

2+

7_
10-
4+

7-
,10 -
5+

3+

8_
2+

10 -
5+

7_
1+

10-
3+

7_
9+

3+

9-
a(\-r/ '")

l \-..'-\ )\
/^ t'\

_-^( J-
Nemáš-li tam chybičku, vybarvi si myšičku.24
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